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1) Who was the author of “Nrityaratan Kosh’?

I} Kumbha 2} Mandan
3) Som 4y Jaggiwan bhatt
1) J T R F e ey Ay 7 |
1) ™ 2) wogq
3) am 4) WTSlEH W
2) The culture of red and black mud baked pottery was related fo :-
1) Kalibanga 2} Aahar
3) Balathat 4) Bagour
2) IE-ETH EAIS A G B TG B A -
1) HEET 2) SNET
3) T 4) =wi
3) Between which power’s was the bettle of Sarangpur (1437AD) Fought?
1} Mewar - Malwa 2) Mewar - Marwar
3) Gujrat - Marwar 4) Mewar - Chandel
3) gringe g (1437 €.) few 74l & Wed g 7 '
1) #ag - Hera 2) warg - AR
3) TR - W@ 4) Fang - wR=A
4) Who associated Aurangzeb in the battle of Khajwa (1659AD)?
1) Jaswant Singh : 2) Kam Singh
3) Jai Singh 4) Bbeem Singh
4) o g (1659 £.) § s @ wry B Ran 2 |
1) o e 2) % fis
3) wa RiE C 4) O9m T
§) Which following Code is does not match?
Temple - . Place
1) Shrinathji - Nathdwara
2) Dawarikadhishji - Kankrouli
3) Mathureshji - Jodhpur
4) Govind devji - Jaipur
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4R - 2L
1) el - TABRI
) aiftaTeRiemt - EaLTH
3) Wt - Ele
4) TR R - AT
6) The Dargah of Sufi Saint Meethe Sahib is located in :- ‘
1) Gagron 2) Bharatpur ' , ‘
3) Bhains roadgarh 4) Bhatner ‘
6) got da W13 wew # omE Raw ¥ - |
D e 2) wER | |
3) HRUETE 4) e 1
7) Who established Jasnathi Sect? ; ‘
1} Laldas - 2} Prannath ‘
3) Haridas 4) Nathmuni ' 1
7) ‘sl e & W e @l - | '_ 1
1) @™ 2) g o :
3) ERem™ _ 4) R | | ‘
8) With which style of painting is ‘Gulam ali’, ‘Baldev, ‘Saligram’, ‘Ramgopal’ associated with? : 1
1) Nathdwara 2) Alwar '- ‘
3) Bundi 4} Bikaner 1 ‘
8) e ovell, ey, WOTRM, AT fee @ Y fed R el v w2 -
1) e 2} aay 1
3) T - 4) SR - a
9} Who is the author of ‘linguistic Survey of India’? - ' ‘
1) George Greyyson £ 2) LP Tessitori . 1
3) Motilal Menariya 4y Gairy Smith 1
9) Feifaficn T ol s % dEw € - ~ |
1) @t B _ 2) wam. . eEed I
3) A e 4y ¥ fora i ‘
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10} The ‘Hariyali tee)’ is celebrated in :-

1) Shravana shukla tritaya 2) Bhadra pad shukla witaya
3) Shravana krishna witaya 4) Bhadrapad krishna tritaya
10) “eftareh dior st ) # - o
1) = g | 2) WS A G
3) HEU FT A | 4) ISUT O A
11) The Novel ‘Rajput Jiwan Sandhya’ is written by :-
1) Kesarinath 2} Awanindranath
3) Ramesh Chandra dutt 4) Kanhaiyalal
11) gy ofieA geear su=mg ferar ¥ -
1 Hwimy : 2) sraHsAT
3) ™ TF 4) HRATIE
12) *Ksharbag’ is Situated in :-
1) Bundi ' 2) Jodhpur
3) Bikaner 4) Ajmer
12) ‘mrerr fa ® - '
DR S 2) gy
3) AT ' 4) P |
13) With which Prajamandal Movement is the name of Pt. Nayanu Ram Sharma associated with?
1) Haroti Prajamandal . 2) Marwar Prajamandal
3) Jaipur Prajamandal 4) Bikaner Prajamandal
13) ofven waepet sl ot wvdy bg daEYed IR 3 W1 E 7
1) s smHvEw | 2) HIETE HUSH
3) WYL AV | 4) KSR ST
14) From where was the newspaper ‘Pratap’ published?
1) Delhi 2) Agra
3) Kanpur 4) Bareli
14) ‘WA AE TAER U FE ¥ G A o 7
1) et 2) SRy
3) &Y 4) TLEt
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15) What were ‘Balad’?
1) Sarthwah 2) Bakhshi
3) Sainik 4} Krishak (Farmer)
15) ‘e w1 g 7 |
1) @ | 2) el
3) &= 4) 9%
16) Who was appointed the ‘Raj Pramukh’ of Matsya-Sangh?
1) Dholpur Ruler 2) Karouli Ruler
3) Alwar Ruler ' , 4) Bharatpur Ruler
16) weg 99 @1 U9 wE bl e ?
1) dag s - 2) HEH e
3) ST MEE 4) HER AEE
17) Who Setup the ‘Desh Hiteshani Sabha’ in Udaipur?
1) Maharana Shambhu Singh 2) Maharana Sajjan Singh
3) Maharana Ajit Singh 4} Maharana Jaswant Singh
17) Seaqy # Sofedw v’ @ e e R 7
1) wewon gy fg 2) #Er w4
3) HERwn s e : 4) weron SEEd {e
18) Which is not a puff instruments? _
1) Algoja 2) Satara
3) Morchang 4) Surmandal
18) Frvr o amga 4% 78 & ?
1) SFEreT 2) |qawy
3) e | 4) gEvsH
19) Between whom was the bettle of “Tunga Fought? _
1) Pratap Singh & Mahadji Sindhiya 2) Ragoba & Jaswant Singh
3) Jai Singh & Mahadji Sindhiya 4) Bheem Singh & Mahadji Sindhiya
19) % g Fes wer wer T ? |
1) war e ol neEsl ik 2y T ofiY waa Ris
3) srfte o HerEsl Rfar 4) Hmide ok wersl Riftrn
20) Whéﬁ was the state of Jhalawar established?
1) 1836 AD 2} 1838 AD

3) 1842 AD 4) 1844 AD
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20) SIS I B W B9 & 7

1) 1836 8. | 2) 1838 %.
3) 1842 8. 4) 1844 %,
21) What is the geographical area of Rajasthan ?
1) 3,853,370 Square kilometer 2) 3,42,239 Square Kilometer
3) 3,38240 Square kilometer : 4) 3,40,485 Square kilometer
21) waegra & odnifee Soww feam & 7
1) 3,85,370 a7 Reeirier 2) 3,42,239 7 fmniey
3) 3,38240 7 fpeirder 4) 3,40,485 T faniex
22) In which one of the tracts of Rajasthan does Malwa Plateau extends 7
1) South - eastern 2) Eastern
3) South - western 4) North - eastern
22) womar & R &9 H Wear 9o # fawr § 2
) = - gl 2) T
3) g - wfverh 4) T - T
23) Mukandra Hills largely extend in - '
1) Tonk district - 2) Banswara district
3) Bundi district ' 4) Kota district
23) gwR o SEiSal Sty foRaiia @ - |
1) ¢ R d 2) afearEt fw §
3) ¢ P | 4) e B §
24) Which river forms part of Sambhér lake inland drainage area?
1) Kantli ' 2) Bandi
. 3) Mendha ' 4) Mansi
24) whwe iw e ooere &9 @ TR B - W E 7
1) & | 2) =
3) #@ | 4) ey
25} Which one of the following pairs of rivers in Rajasthan is correctly matched?
1) Kothari - Luni 2) Sukri - Banas
3) Jakham - Mahi 4) Banganga - Chambal
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25) e o e feifea o @ R4l @ @A gw o gafem ® 7

1) BTl - & 2) THS! - W
3) S - R 4) ST - TEE
26) ‘Mawatha’ rain in Rajasthan is caused due to -
1) Arabian cyclones 2} Mediterranean cyclones
3) Bay of Bengal monsoon 4) Retreating monsoon
26) ToRg™ § ‘A@e a6l R © -
1) org wrlE A - 2) Y PN dha ¥
3) 9TH @EM TEgT 4 4) gRmEd AEEE |
27) Which crops are generally grown in mixed red and black soils in Rajasthan ?
1) Rice, Sugarcane 2) Groundnut, Mustard
3) Cotton, Maize 4) Wheat, gram
27) T ¥ fufda wre i @l g o wer: ﬁaﬁrmﬁws‘wﬁ% ?
1) e, T - 2) e, weE
3) ®9H, HaH ' 4) g, T
28) Dry teak wood forest extends over the largest area in which Forest Division of Rajasthan ?
1) Rajsamand _ 2) Banswara
3) Sirohi ‘ 4) Kota
28)%%%%%%%%%%%@@%%%%@% 7
1) aoeas 2) W
3) A ) 4) wrer

29) More than two-thirds of rice producing area of Rajasthan falls under which agro-climatic zone?

1) Flood prone eastern plain 2) Sub-humid southern plain
3) Humid southern plain 4y Humid south-eastern plain
29) T 1 € - e W o e aEw i 50 PN - Sy @ve % ertd onar ¥ 7
1) slg g yE de ' 2) 3urg el fam
3) o cieoli #eM ' 4y o EfErolt - gdt fe

30 In which districts of Rajasthan Mewat brc;ed of cattle, buffalo and goat is foﬁnd?
1) Bundi, Kota, Baran

2) Dungarpur, Banswara, Pratapgarh ' - §

3) Alwar, Bharatpur, Dholpur
4) Ajmer, Topk, Bhilwara
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1y 481, ®E, 9N
3) SR, WIEQE, 9T

I} Nahargarh, Sajjangarh, Machia
3) Akal, Sajjangarh, Marudhara

1) wIBTTg, WIOTIG, Wit
3) WW, FRATT, AEUU

32) v ¥ W% o ot g B o ¥ 7

JCDT

W v T & ey, S TeRl e s A bR d o I § 7

2) ST, TRIErE, FETTTE
4) & AR, TF, G

31) Band Baratha wildlife sanctuary is located in which district of Rajasthan?

1} Bharatpur 2) Dholpur
3) Alwar 4} Karauli
31) wA Aer ARl AW IR & Y B F st ¥ 2
1) wergt 2) gy
3) ey 4) Hiw

32) Where are the biological parks in Rajasthan established?

2) Shergarh, Nahargarh, Akal
4} Van Vihar, Akal, Machia

2) NG, ETTG, A
4) @7 fRr, aed, A

33) What is percentage of land irrigated by canals in Rajasthan (2013-14) ?

1) 2649 2) 2436
3) 28.85 4) 2975
33) vavar § wedl zra Rifem &5 & wiaw R & (2013-14)
1) 26.49 2) 2436
3) 28.85 4) 29.75
34) Odd out the pair not correctly matched - _
River Valley Project - Participating State
1) Bhakra Nangal - Punjab, Haryana, Rajasthan
2) Chambal . Madhya Pradesh, Rajasthan
3) Beas : - Punjab, Rajasthan, Uttar Pradesh-
4) Mahi Bajaj Sagar ; Gujarat, Rajasthan
M) w7 & sifer - |
T g9l ST R
1) WRgl e | . Gorr, eftam, e
2) TEd - TECYT, T
3) @ - UuE, T, IaT Tl
4) HIE TAR TEE - TORT, TR
9
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35) On which site is the main dam of Mahi-Bajaj Sagar project built?

1) Khandu 2) Borekheda
3} Ghatol 4) Kadana

35) qré-gere arr 9T @ gEy o Fr ew o R R 0
1) @iy 2) S
3) e : 4) ®Ion

36) Approximately how much percentage of usable ground water available in Rajasthan is being currently
utilised? :
1) 50 2) 25
3) 66 4) 75

36) TR H IS YW AR S AN b Siaei R S § sEm A R @ w7
1) 50 2) 25 o
3) 66 4) 75

37) Odd out the incorrect statement regarding fluorosis problem in Rajasthan -

1) All the 33 districts of the state are affected by fluorosis
*2) Western and southern districts of the state are more affected by fluorosis
3) Fluorosis is more affective in rural areas than urban areas
4) More than 72 percent villages of the state are affected by fluorosis
37) wore § e geen § watud TEd o 6 siey -
D) o % |33 e i 8wt €
2) U9 % UigaHl wd el e wiihe | afe digg §
3) ored A @ et TR A F SRR B SR o §
4) g ¥ 72 afaew ¥ aifte Tig W@k 9 e €
38) Cities of Rajasthan located on National Highway No. 12 are -

1) Jaipur - Ajiner - Udaipur 2) Jaipur - Bundi - Jhalawar
3) Jaipur - Sikar - Bikaner 4) Jaipur - Nagaur - Jodhpur
38) TorE # TR womE g 12 W Ram R E - '
1) S - A - TEIY 2) FAR - 44 - WA
3) SUgY - Gt - ST | 4) SEY - AMR - Sy
39) Large reserves of pyrites in Rajasthan have been explored in -
1) Sikar district 2) Churu district
3) Jhunjhunu district 4} Bikaner district
20- @ 10
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19) s § ureeee % faene wveR @t T E -

1) iy By § 2) e For
3y fg e o 4) derr e d
40}) Odd out the pair pot correctly matched
Mineral ‘ Mining Area
1) Iron - ore - Morija - Banol
2) Tungsten - Degana
3) Manganese - Lil wani
4) Gypsum - Rishbadeo
40) webmy gy Wy R -
afe | o 8
1) o - HOE - AT -
© 2) deem - ST
3) #brn i e
4y Poray : EAKECH
41) Which of the following stones falls under Metamorphic category?
1) Sandstone 2) Granite
3) Marble 4) Basait
41) Pwffion & § e weR FEERa Metamorphic) @ § aIFT ¥ 7
1) dvedm 2) wrge
3) dmer - 4) T
42) A good brick earth should contain alumina in the following limit
1) 5-10% 2) 20-30%
3y 40-30% : 4) 60-70%
42) ow vt fe @ 3 FEr F orafen @ Aen R ARy |
1} 5-10% ' 2) 20-30%
3) 40-50% , 4) 60-70%
43) During slacking action of lime the volume
1) tncreases 2) Decreases
1) Remains same 4) None of the above
43) v & gar (slacing) ¥ IHET ARITH -
1)y 4gar § | 2) "ea ¥ |

3y gEt A ¥ 4) THRG § B TE
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44) Rate of increase of compressive strength of puzzolanic cement as compared to Portland cement
duning first. week of setting remains

1) Slov 2) Fast
3} Random 4) None of the above
44) gom geE § puzzolanic We @t ¥l gl (Comp, Strength) YiEeme WHE & goFT H &0 & |
1) 49 2) &
3) afHigaa 4y U H o T
45) If water cement ratio in a concrete is increased then compressive strength
| 1) Increases 2) Decreases |
3) Remains same 4) None of the above
45) aflt depie @t gy ug diffe @ a9 Ry wd @ §9E g (Comp. Strength)
D g1 , 2) wedt ¥ |
3 A wRE | 4 Tl A o
46) The size of cubical mould for testing compressive strength of cement shall be
1) 150mm . 2) 100mm
3) 70.6mm 4) 50mm
46) G @1 9dEi gl (Comp. Strength) JEH By T o1 TS BT 2 |
1) 150 wa.Uw 2) 100 vq.uy
3) 70.6 TH.UH | . 4 soTm
47) The core of cross section of an exogenous free is called
1) Sapwood | 2) Pith
3) Heartwood ‘ | - 4) Inner bark
47)%%%&%%%%3@%@[@
1) 9% 2) fRm
3) Bcye ' 4) it e

48) Which of the following range of Pigment Volume Concentration Number is recommended for paint
for prime coat on metal?

1) 25-40 2) 40-50
3) 50-60 4) 60-70
48) €1g YT MEH wie g YIH paint % PVCN &) “juwr & ¥ |
1) 25-40 | 2) 40-50
3) 50-60 o 4) 60-70
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493 The softening point of various bituminous grades in (degree centigrade) for paving jobs vary between

1) 10-20 2) 20-30
1) 45370 4) 7:.-100
49) fabwy fagfs og &1 wew Fwive #7 softening point = Jwer § wwar & |
1 10-20 2) 20-30
3) 35.70 " 4) 70-100
$0) The Marshall stability value for bituminous mixes for heavy traffic shal be not less than
1) 710 kg 2) 810 kg
3) 910 kg 4) 1010 kg
Sﬁ}mﬁm%g&gfﬁwﬁwﬁmﬂa value =ifha & #9718 2T TiRa |
Iy 710 kg 2) 810 kg
3) olokg | 4) 1010 kg
$1) Deflection due to bending moment in a regular beam of uniform cross section is proportional to:
1
) Bl | 20t
) ("l*jr 4 €
E

$2} Deflection of tip of a cantilever beam of span length, L carrying uniformly distributed Joad, q is:

24E1 12ET
g aL'
kj} BE 4) oEL

$3) A tubber bar of length 1.5m and 200mm diameter is stretched along its length by 20mm by a force of
ISkN, As a result its diameter is reduced by 2mm. The poisons’ ratio of the bar material will be:
s 2) 1 '
3075 | 4) 05

$4) A structure is subjected to different set of loads, and then sum of deflections under eabh- set of loads
acting separately is equal to total deflection of the structure due to different set provided loads are
within:

1} Elastic limits including buckling

2) Proportional limits without buckling
1) Elastic limit

4) Limit State

20-@ 13
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55} Moment of inertia of a rectangular {lat (length, L and width, B) about its axis parallel to its length at
a distance B/2 from its top face is:

BL LB
R s
3 LS
- 12 12

56) A simply supported beam of span L, is subjected to two point loads (each of magnitude P) at a
distance of 1./3 from either support, The maximurm bending moment in the beam will be

-
j: ; 1) PL - 2) PLA2
3) PL/3 4) pLi

57) A rectangular beam section has width 120mm and depth 500mm. The moment of inertia about an
axis at mid depth parallel to width will be:

e s e s

1) 15x 10°mm* 2) 12 x 10"°mm*

3) 125 x 10%mm* 4 125 x 10'mm?*
‘ 58) Acolumn of length 1.5m is pinned at both ends has radius of gyration 150mun. The slenderness ratio
| will be:

1) 150 2) 100

3) 10 s

59) A simply supported beam (span L) is subjected to uniformiy distributed load, p throughout the span.
The rotation at each end will be ‘

| pL’ PL_
R Y iemr %) 2am
o 3 3
[ 3) -2 a PL

Where EI is flexural rigidity

60) Inasimply supported beam, maximum shear stress in a triangular cross-section (altitude h) occurs at

a distance:
1) h/3 from bottom of beam 2)_h/3 from top of the beam
3) b/6 from neutral axis : 4) hf5 from top the beam

61) Error due to bad ranging is
1) Compensating " 2) Cumulative positive

3) Cumulative negative . 4y Both (2) and (3)

20- @ ; 14
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that | ol) ang JEd $ e aF 4 3R S R - :
1) uuErh 2) =9 T
b oy T 4) BRI (2) 7d (3)
6.1) True meridians
1) Converge at a point called pole 2) Are paraiiel to cach other
al 2 3) Converge near equator 4) None of these
62) uard TR
1) oo g o PRl &, R ga wed
2) 0% g & Wi B §
it an 3) oo e ox Pl €
4) wojw 8§ & B -
63) Abmpnes of spherical aberration in'a telescope is called
1} Achromation 2) Chromitation J
atio | 3) Aplanation 4) Ablation
| &) xow ¥ v oo o e et -
| 1) wwhew 2) e
san. | ) m o AN
L @) “Point of curve’ of a simple circular curve is _
l}m of commencement 2) Point of tangency
_ 3) Point of inter-section ~ 4) All of these :
| 64) wm et o am R R -
E 1) wif R -2y g
- 3) v Ty 4) gogE T
65) The method of surveying in which field work and plotting work are done siﬁ}ultaneously is called
s at 1) Compass surveying 2) Chain surveying
3) Levelling 4) Plane'tabling - |
63) alaw o Bro BN 4 & od o ardem o O aaar BB wd § 2
1) Wepges adua 2) ST gee
1) Ase 4y wew Hea
0-@ | 15
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66) Which of the following errors can be eliminated by reciprocal measurements in differential feveling?
I Error due to earth curvature
H Error due to atn. .spheric retraction

1) Both Tand II 2) Lonly

. 3) Honly | 4} Neither I nor I

; 66) agiw qweer ¥ aie AW Y e @ O gleal @ 9 o e € -
192 &Y Sl gy B g e
1 9&) % ged g1 &89 aml 310
1) 1 3R 0 2) Rkl

| 3) frk 11 4y 13f 1 1

{ 67) If bearing of a line AB is N 60° 30/ and that of BC is 122° of a closed traverse ABCDE, then measure

of the interior angle B, is ,

1) 240° %0 2) 122°00'

3) 118° 30 4) 150°

67) T UF Y@ AB B REHF N 60° 30'% d=1 v BC & R 122° % | A1 sga "iwiEr ABCDE |

T Jiali® ®0 B & 9 &AW - |

1) 240° 30 - 2) 122°00

3) 118° 30 4) 154°

| 68) The contour lines 'mcrge or cross one another on the map in case of |
1 Vertiéal surfaces 2) Overhang ground surfaces
3) Cave 4) All of these

68) uw arfus A e Yo fom Rufy 7 eg 0 & @1 ve @ @ ®Ra © -

1) e gag 2) WeEw BIT UM 9B
3) Tl C4) SogE wd

69) The process of bringing vertical circle to the right of the observer if it 1s originally to the left and
vice-versa is called

1) Face left : 2} Face right
3) Changing face ‘ 4) All of these
| 69) Tt e A1 e ¥ o a e # PRy E w e § aﬁ%qﬁw@raﬁ‘mﬁr@w
SFE HH H B - ,
1) @] BEE 2) el e
3) BEE giad - 4) vegEwr wdt
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ling? | 70y Crens hairs in surveying telescope are fitted
1y At the centre of telescope
21 Inthe objective glass
i) In front of eye piece
4j Any where between objective and eye piece
10) nden gré A pemg AR e gu AR E 7
1y grém & | 2) o T % eiay
1) afam & aen | 4) ea U A % T wE A
71 The centre line method of estimating is used for
i) Octagonal buildings 2) Hexagonal buildings
asure 1) Circularbuildings -  4) All of the above
71) g @ v Y P 3 o e & @ T ® -
1) wedely s 2) TEHIT W
| ) (o 4) Sud o
CDE :. 13 The measurement of D P.C (Damp Proof Course) is done in
i) Maten - 2) Cubic meters
~ 3) Squwre Moters 4) None of the above .
) ok d) Wi xS D.P.C a1 R & fora o ® -
)3 A - 2) g d.
5wl 4y v A G @
75 Following items are measured in kg. : ‘
1} Expanded metal wire netting

2} M.8. reinforcement of R.C.C. works
3) M.S. grills provided in roof over courtyard

4) Rolling shutters
) fom ¥ & o & den R, # o ¥ -
1) manldE uig & W w0 oA
) wafers g Faie & yald TH 30
Y wim & Sy wa el wafes e g oo
4) nfem 45
74) Due to change is price level, a revised estimate is prepared if the sanctioned estimate exceeds
hy 2.0% 7 2) 2.5%
V) 4.0% 4y 5.0%
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74) yFdi % wR § qawd 2 % P, @y e tar R s §, Al e afd sas s 8-

2 2.0% ‘ 2y 2.5%
3) 4.0% 4) 5.0%
75) The expected out turn of cement concrete 1:2:4 per mason per day 1s
1) 1.5m’ | 2) 25m®
3) 35m® 4) 5.0 m’
75) wfy foet sy et @ 1:2:4 Siie wee @ oA QRO Ree § -
D 1S 2) 2.59% 1.
3) 3.5 9 H. ' 4) 5099 1.
76) Lacustrine soil are soil '
1) Deposited in Lake beds 2) Deposited in sea beds
3) Transported by glaciers 4) Transported by rivers and streams
76) T &l g, W R -
1) ¥ & o § 9|l 2) G & o| T I
3) el & ga uiiaed - 4) AR o e g aReEEd
77) The ratio of volume of air voides to the volume of the total voides in known as
1) Porosity 2) Air content
3) ‘Percentage voids | _ 4) Percentage air voids
77) ardra el & srues ot g Rdedl % awas Sy &) #ed €
1) agm 2) A%y 3w
- 3) Reaan gidea 4) argdg Rerar & sfad
78) Valid range for the degree of saturation (S) of soil in percentage is
1) S0 - 2) O<S<100
3) O<S<100 4)§>0
78) fedt ger & forg dafa ol (S) @ WIRI BT E - _
1) $<0 2) 0<S<100
3) O<S<100 4) S>>0 .
79) A soil has a bulk density of 22 KN/m?® and water content of 10%. The dry density of soil'in KN/m®
D1 2) 20
3) 21 4) 22
79) T &I w1 g g 22 KN/m® SR Sie 10%. 1 el O o KN/m® g -
1) 19 Y | 2) 20
3) 21 4) 22

20-@ 18
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¥y A pycnometer is used to determine

Voids ratio and dry density 2) Water content and void ratio
1y Specific gravity and dry density 4) Water content and specific gravity
B Mgt @ SO @ S H & forg ReEr S E -
by braar s ol o w9 2) Senyr 3R Reaar oy
1) wnfes e ol g wE T 4) ST AR muteE TEd

KL} The minimum water content in a soil at which the soil just begins to crumble when rolled into threads
of dmm in diameter, is known i
1) Plastic Limit 2) Liquid Limit
}) Shrinkage Limit 4) Permeability Limit
sz;%«;ﬂ&umwmm@3mmm%mﬁma.%m@ammmw

1) wafies = 2) 59§
3) wpaw o 4y grerRan g
£2) Under a given load, a clay layer attains 25% degree of consolidation in 200days. The time then by
@ samé day. Layer to attain 50% degree of consolidation will be
l} 1600 days 2) 800 days
i} 400 days 4) 200 days
Q:N:miﬁﬁa w0 ) T 200 Rl & BT B 25% Rt W o A | e
o W ghmo &) 50% R e w € oy A wey wien ?
1y 1600 faw 2) 800 R
5} 400 fRw 4y 200 B
&3} Coefficient of permeability of soil

I} incvease with the increase in temperature

2) Increase with the decrease in temperature

3} Does not depend upon temperature

4) None of the above
&) iy w1 v o ‘

1y e ¥ gfy & Ty giE 2) wW9AE | w % @y gl

0y AmaE W PR AE s 4) T | BT
E4) Cocflicient of consolidation is used for calculating

1) Stress in soil 2) Total settlement

1} Time rate of settlement 4) Preconsolidation pressure

. @ 19
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84) gEIHTO UirE @1 SwAnT [ e H BT ® 7

D) Fredt & s 2) g fre
3) frew & w9 W | 4) TAGEHTT A9
85) In-situ vane shear test is conducted to determine. The shear strength of
‘ 1) Non-cohesive soil 2) Cohesive soil
t 3) Sandy soil 4) Silty soil :
| 83) & 4 A srwwwwr v, Rewahl srrsawr aee T & & frg e o &
i 1) smEss gar 2) HEEw e
| 3) el g 4) Rt g
. 86) For saturateei soil, skemption’s pore pressure coefficient B is
1} Zero : ' 2) Between 0 and |
l 3)1 | 4) Greater than 1
86) g war & fou, whges 1w g yulie B E@r ® -
1) s/ 2) 03R 1% 9
» - 4) 18 Hfuw
87) The lateral earth pressure on a retaining wall
. 1) Is equal to mars of the soil retained
2) Proportional to the depth of soil
- 3) Prééortiohai to the internal friction of the soil
4) Proportional to the squire of the depth of the soil
I 87) ua gy S o wivas e are o ¥ -
bf D) @ % 5 & 9
| 2) v @ e % wARE
3) WO & S aun B F A
4) IE & TR F I F awEuias
88) The largest value of Taylor’s slate stability number is
1) 0.261 - 2) 0.561
3) 1.911 | 4) 2911
. 88) B Wl e Reel He 1 ged wwr e ¥ -

1) 0.261
3) 1911
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¥4y Lhe hearing capacity of a soil depends upon :

1y Size of the particles 2) Shape of the particles
1 Cohesive progerties of particles | 4} All of the above
K9yttt ) U gmay PR #Ear ¥ -
y ekt & & & srER W 2) fredt & ®w @ ey W
4 tnedt & g o W 4) I & A

Sy in plate load test to determine the beaming capacity, if soil is sand, the bearing capacity of footing is

1} Isdependent of the width of footing

2} Directly proportional to width of footing

1) {aversely proportional to width of footing

4) Drrectly proportional to square root of width of footing

90) WTE WU W F 9T W R gde |, afd Red Ya 8, ﬁammm
1) oo g ¥ =
2) ¥ ot & e
5 W & oty & e
&) W oy F T 5w
¥ Mydrol sy is the science which deals with
i) Rain water 2) River water
1) Bea water 4) Surface and underground water

tiﬂtmm - 2)3%%3@{@7
ek 4) §as oiR 4 o @

Which of the following types of rain gauges is used for measuring rain in remote hilly inaccessible

L
i} Floating type -~ 2) Tripping bucket type
3) Weighing type , : 4) Simon’s rain gauge
mmmwmwwmﬂmeﬁw@aﬂwm%mmz
1y webe fow &1 : . 2) fefdr ahe e &
Vj ooty e a . 4) TEET @ 9w 39
&3} he ruo off increases with N
by fecrease inintensity of rain 2) Increase in infiltration capacity
ty Increase in permeability of soil 4) All of the above
@ 21
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93) srqars Tosads wy &g e ¥ -
1) IRY P digen F gy F Wy 2) fomg sovar & gfg & @y
3y Bt @t orora § ofe & w 4y i wh ‘

94) A sprinkler irrigation systerns is suitable when

1} The water table is low
2) the soil is having low permeability

3) The crops to be grown have deep roots

4) The land gradient is steep and the soil is easily erodible
94) frgaprg T wonel SugEd € o -

1) s e e

2) Fedl & g @9 @

3) E A A6 GEAl B AdS TE @

4) oW H @ we A AN fed @ e o & &

95) The time from planting to harvest the crop is called

1) Base period : 2} Crop Period
' 3) Both (1) and (2) 4) None of the above
95) % T S wEE B 49 Y ABT BER D HeA F T § woan § o
1) amar s : 2) wud e
3) &M (1) 3R 2) 4) zad ¥ o T
96) If the depth of water is 8.64 cm on a field over a base period of 10 duys, then the duty s
1) 10 hectares per cum/s | 2) 100 hectares per cum/s
3) 864 hectares per cum/s 4} 1000 hectares.
96) s T 10 R #1 AR H AR W O B T 8.64 Wt

1) 10 B uR cum/sec 2) 100 ¥R ;
- 3) 864 Eaw R cum/sec ' 4) 1000 ¥RAL

1) 130cm 2) 17.0em
3) 19.0 cm 4) 23.0cm

1) 13.0 & 2) 17.0 ¥k
3) 19.0 & |
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98) For coreal crops, the most commonly adopted method of irvigation is

) Check method ' 2) Furrow method
3) Free fowubing method 4) Sprinkler method

98) sy wreht ¥ oy el ot ored T R @ R
1) wwiaty 2) T f&f
3) %) ueftn tafe 4) fozam fofy

99) The Flood discharge Q in cumecs (according to Dicken’s formula) is given by
1y CA% 2) CA¥
3) CA¥ 4) CA%*

99) ars v &1 Q wghms & dia & Y F orgOw ol ¥ -
1) CA¥ 2) CA%
3) CA¥ 4) CA*

ﬁ 100) The quantify of water retained by the sub-soil against gravity, is called
: 1} Yield 2} Porosity

3) Specific yleld 4) Specific retention

100) srvemeder &6 fawnres Tu-fredt & A T o A e 3 -
1) mfes | 2) Higa
3) fufire 3a 4) fafsre wfoamr

101)1f d is the depth of the aquifer through which water is ﬂowmg, then the relatmnshlp between
permeability K and transmissibility T is given by ‘-
1) TwKd 2 T=KAd |
3) T= JKd 4) K= J1d |

101) oft ¢ werery @) vk & Formy & orll &% 78 ® & wovaE K AR R i e T TR G99 § -
1) TwKd 2) T=Kud

) T= JKd . 4) K= Td

102) According to Lacey's theory, the silt supporting eddies are ‘generatcd from
1) Bottom of the channel only 2) Sides of the channel only
3) Bottom ns well as side of channe] 4) None of the above

102) ey & frvpin 5 srgare, R @ Tadfae (@ Tl oo oow adl § -
1) e 487 & a4 3 2) e WET ¥ 9y e g
3y ARy & e she qied B 4) T 4 BE 79

20_. 23
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103) If the average size of silt particles is m mm then Lacey’s silt factor is proportional to

1) m 2) m*
3) m? 4) w’

103) ofe fyee & o &1 offad s m fr. A & o S B R ey wmrendt S ®
1) m3® 2) m*%
3) m’E 4) m*%

104) The shape of a lined éanal as per recommendation of the ISI (NBS) is | 5
1) Semicircular 2) Parabolic ?
3) ’I‘rapeioidal 4) Elliptical

104) ISI (NBS) & 3F0R, Uab! 80 &7 H &6 & - ;
1) sefger 2) weafeam é_
3) HHEEIER 4) &9 T

105) Which of the following categories best describes the Hirakund reservoir?

1) Reservoir for ifrigation and power

2) Reservoir for recreation and fishery

3) Reservoir for irrigation and water supply

4) Reservoir for flood control, power and irrigation.

iesﬁw%ﬁaa%ﬁﬁﬁéaﬁﬁugﬁmwwmﬁmmm%r | 5
1) R sin e % e e ”

_ 2) W AR ARG & g Ay

3) Riar o url &l el & g Seem

4) g Fraaw, R ofr Rl & o Saes
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e in compression (1.e. congrete) and
utral axis is kd (where d is effective
ch one of the following tepresents

106) In u denitily rei _ _
tension {i.e. steel) are o, and o, respectively, The
depth) from top cor nréssion face and modular ratio |
correct combination 1 under reinforced beam?

och  mk < ech
3) i 11k : D m
107) In a limit state method the maximum strain allowed in cox crete of a beam as per 1S
code is: '
1 002 : | 2) 0.002
3) 0.003 ' 4y 0.0035
108) In order to control the deflection of a continuous bean the allow 8pan to effective depth
rafio 1s: i
1) 26 . 2) 20
3) 13 4) 7 Ry
109) For a load test of flexural member, the load to be placed on a structure 28 pm' IS code shall be:
1) Full DL 2) Pull DL plus full LL
3} FullDL plus_GALL 4) .Fuil DL plus 1.25 LL.

Where DL : Dead Load; L1 Live Load

110) Width of RC rectangular beam is 205mm, spacing of vertical stirrups provided is 435mm (fy=410Mps).
If shear capacity of a RC beam is more than shear force at a section; the minimum quantity of the
' . be provided as per codal provision is:

2) 75Smm?
4} 250mm?

sion allowed limit for design bond stress is 1.5Mpa. If the bar is replaced by
n corresponding bond stress will be:

2) 1.9Mpa
4) 3.0Mpa

or earthquake resistance design of structures is:
2) 15:1566
4) 15:1904

112) T
1y
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113) Which one of the following provides required depth of foundation of a retaining wall:

1)) i[.l:ﬂ@}z
71 1+sing

q 1—sing
3 }B[1+sin¢}

Where q: bearing capacity; y unit weight of the soil; ¢ : angle of repose; B: width of foundation.

114)In a RC cantilever beam which is subjected to downward load, tension reinforcement needs be

provided at:
1) Top face
3) Middle level

115) Which one of the following represents relationship between characteristic load (fck), mean strength

2 i::?.f?i_,ﬂ}

| 1+sin’ ¢

2 P

' 4 _gfl%«sine)}z

y{1-sing

2) Bottom face

4) Top and bottom faces

(fm) and standard deviation (S} as per relevant codal provisions?

1) fok=fm-1.65S
3) fck=fm-2S
116) Scaling objects make them -
1) Smaller
3) Either smaller or bigger |
116) @feir gwe sifadiae &7 9@ € 2

1) g
3) oF § Brer @ g2

117) One of the below options is wrong about type of AutoCAD dréwing units which one is it?

1) Architectural

3) Millimeter

2) fm=fck-1.655
4) fm=fck-2S

2) Bigger
4) None of the above

2) S8l
4) STH F G g T

2) Engineering
4) .Decimal

117) = o § § s aferss g gie vag & |

1) smieaaTa 2) sotitrtin
3) Fedice 4) %Iﬁw
118) Which command used to determine the Area
1) AR 2) AA
3) A 4) ARE
26

20- @

11

120

120




JCDT

% Ty W) s @ & o ® -
(@ am) 2) AA (T T)
) 4) ARE (. 9. §)
ebjects are drawn on the
2y XZ Plane
4y ZX Plane

arE WY Sigwee e WH W OEE T ¢
2) p VA
4) ZX GH

120) All of the following objects can be extruded except a(n)

s 1) Arc 2) Polyline
3) Ellipse 4) Region
120)%%?%8%%@%#&%@%%1
1) e ) UITEE

3) o 4) o=

20 - . 27




